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*Tensor product is used to combine the

States A two separate (quantum) syst-

a TP is used model cabinet charges of

the two systems by tensor product

of adj . matrix as

* In quantum system ,
there are way more

States than the ones in tensor product .

Those are called entangled States
.
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Chapter U
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0bje9o model the quantum physical
system of particles
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consider a line with a finite nub
of points
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on The state can be associated with a

n -dimensional complex vector space
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* A particle is at point X i is denoted

by ! Xi> : Ket notation
Gol - vector)

q Canonin
f.Xo>=-3[I , O, O, - - - so] →basis

I ? .>→ Co, I , o .
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•This is enough for classical system
- We can Tepresent the superposition
State using a linear cabinat ion st
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I 4> = [ Co , Ci . . - -

, Cn -if
- -

↳
is a superposition of all state
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1×07,1×7 . .

• There are different blending
- -

of such superposition States depend .

on the values of co, Go .
-

,
Cn
- I

* The prob .

of a particle is at position

Xi ( after measuring)
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